EARAROBEEIERT — 2 N— IBISH —F

201611 86H (H) 17E£R1H

Il S>%—f# C29 EEDE IR
[AE4£] 1 7% :200,000™ ~ 237%&:40,000” ~ 337%&:18,000 M . 43&:14,000 537 :8,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. R BEEALA 140. -1-1- . — 1R (29R)
11810 NYYy R4 =2 4 3 LA 1(45))5 1-1-1-1 | 41.6 1 :238) o
AR v T4 =Y BIALTy FEYT FRBE%S
S . 3 | RESE 1:40.8 2-2-3-2 | #.7| — 3 435 | BRI (£3R)
217|7 IS bPL>Iv—X 57;1.0 (1 1/2) (-2) (#%) LS. M
R:TFy o848 B vLFhAY EALAHS
“ it 3 | RES 1:42.4 2-2-2-3 | 43.3| — 2 436 | SHEE (£R)
3l7lg| TAY—IF 54.0 ®) (-5) | HARfELE
L2 T b A= r—FK—F BT RIAVFAT e g
o . = # 3 | BURT 1:43.1 8-8-6-5 |40.8| — 6 457 | BRRRE (£R)
s 6| 21— >73)T 56.0 ®) +3) (@) J P N
R Z2ZH<KR B:57)—-n"O—-x EZHhTT— L
“ N 3 | BABLE 1:43.5 4-4-4-4 |44.2| — 6 519 | BRERE— (£R)
sB o vrexsr—> 8280 @ o) | B A=x57
LTI RRAFS AN B RY—LFILFIL FRE%S
= o 4 3 | BAK— 1:44.0 5-5-6-7 |42.3| — 5 428 | DNEEFIZE (£R)
6|5/5|YT71X 54.0 @ 172 L | BEBAX
x4 a9 R—-5— B:H—%vy bEDI— Wt RSV Ey K
-3, S = 4 3 | BREBAML 1:44.2 9-9-6-6 | 41.9| — 4 428 | BREBRME (£R)
TR 3| =Y/ V== 54.0 ) ) | ) B-2o7
R:ZAZXHw R B:3% BHR=H R BRSS
\ = it 3 | EBATE 1:45.6 5-5-5-8 |43.9| — 8 399 | BREHEE— (£R)
gl 4| VYT 54.0 ) @) | B K=257
R:TFyIaFI—F BNLY REHE
. e i 3 | BEAA 1:45.8 7-7-9-9 |43.6| — | 10 | 410 |EERKRH (£R)
9|11 |E-FKrKZ17 54.0 ) -2 "R J PN
R:HY/RI49T B:T77—14—X b TREKS
S, S jt 3 | MEH 1:46.5 9-10-10-10 [ 43.3 | — 8 465 | mMZREZ (£R)
1089 | ¥>77 12 54.0 ) we) | (R J PN
R:2914 T hALE KN B:vAXINNYDT [IN)::Eae]
® 1—F—@EBIERL
13—7+— |10,(7,8),2,(4,5,1,6,(3,9)
20—F— 10,(7,8),2, (4,5),1,6,3,9
33—7+— |10,8,7,2,4,(3,5,6),1,9
40—F— 10,7,8,2,6,3,5,4,1,9
[ N5
B 10 1204 714K 7-10 110H e E 7-8 100M JEE 7-8-10 130M
B B 10 100 8-10 110 e B 8-7 110H JEE 10-7-8 350M
7 100M 7-8 100H B & 7-10 220M
8 1009 B H 10-7 270M

ABICOVWTRDTEEERROODE. TR LIV,




